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Tick the correct sum 1o go with the following word problem.
Joan had 72 stickers. She sharsd them ey between the 9 poges of her sticker book.
How many did she put on each page?
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Weite a word problem for each of the following divsion sentences.
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Divide.
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1. Mark'sclas went swimmig, The 30 children were
i . How ey e i Mk rougt )-
2. Jane was helping her mum 0 plant carots. They planied

27 seeds nto 3 rows. How many seeds were in each row?
3. There are 54 crayons in 3 box. Malrsteacher asked him o

share them equally between the 6 tbles, How many did each

table get?
4. Each bench in assembly scats 8 chicren. I 64 pupils arived

at assembly, how many benches would they need?

5. There arc 27 pupls i cach of the 3 third dlasees. Atthe school

sportscay,alof thir class were splitnto groups of 9 for th rely race.
How many teams were there?.

690 chidren went away on a school rip. They were spiit up between 9 houses
How many chidren were in each house?

| - Jem b 0 ot cr T s 17 Lok s 21 he okl o
cards together and shared them out equall, how many would they each get?

Puzzle. As you know,a way o tell an insectfrom  spder is to
‘count s legs Al nsects have 6 lgs and all spiders have 8 legs.
Some insects and spders went (0. dance and there were 46
doncing et

How many inscts and how may spders were a the dance?
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are 9 buns in a pack.Laura shaes them equally among 4 chiden.
many will hey each get? How many buns ar lf over?
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8 Use cubes 10 answer thefallowing questions.

LiBe3=_ 2 7+3=_ % Bed=_ & Tes-_
5745 & Rel0=_ 7 Mese_ & 17ed=
] Ao the questions.

. There are 28 children in Sophia’ class. The teacher ass them tosplitnto groups of 9.
How many chidren il not have a goupt
2 (@) Gran bought a bumper bag of sweets. She shared them between my 4 rends
and me. fthere were 27 packetsof sweets, how many did we each get?
) How many were et over?
3. 50 people are getting on a rain. Only 9 it in each cariage.

How many cantages are needed for all 50 to et a seat?
4. Chloe has been collecting tamps. 10 it on each page.
How many pages wil she need if he has 82 sampst

5. (a) Carlos has 3 boxes of rayons. Each box has 8 crayons. He shares thom
out between himself and his 2 brothers. How many will they each get?
) How many willbe lef overt
6. The milkman defivers 4 cartons of milk to ach of the 6 houses on Dairy Road.
One week, o ofthe amilies were on holiday so he decided to dvide the milk
‘equally among the other houses. How many i they each get? Were there any
cartons lftover?
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Now share the emiiog en + 5 units
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6 Answer the questions.

1. 1 have 57 books. | put 8 on each shelfin my beckoom.

How many books wil | have eft?

—O

2. 42 apples areshared equally among 10 children.

How many apples will be left over?

—[




